

09/27/2023 09:00 AM | Install Day 1 09/28/2023 09:00 AM | Install Day 2 09/29/2023 09:00 AM | Install Day 3 09/30/2023 10:00 AM | Install Day 4 / Touch

09/30/2023 04:00 PM | Event Date 10/01/2023 09:00 AM | Strike Day 1 10/02/2023 09:00 AM | Strike Day 2 PO: Shipping Address: Private Home 201 Baroda Drive Los Angeles 90077 Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Additions 9.29					
	Serving & Display Carts - Naples - Gold Cross Serving Cart	1	\$165.00	Т	\$165.00
M	28"W X 17"L X 30"H				
	Tech drape - Off white Gauze 20' please	1	\$0.00	Т	\$0.00
	Tech Drape - Emerald Green Velvet 20' please	1	\$0.00	Т	\$0.00
	Paint need all colors of paint to do touch ups	1	\$0.00	Т	\$0.00
			Total Additions 9.29		\$165.00
Subrental					
	SUBRENTAL: Encino Revelry to add lightbulb and cabling	4	\$0.00	Т	\$0.00
	SUBRENTAL: Stockton Revelry to add lightbulb and cabling	7	\$0.00	Т	\$0.00
	SUBRENTAL: Brea Revelry to add lightbulb and cabling	4	\$0.00	Т	\$0.00
			Total Subrental		\$0.00
General					
			Total General		\$0.00
Shabbat Dinner					
Charles and Charle	Pendant Lamp - Bali Asymetrical Weave 15"W x 22"H - 3lb - 25 watts	10	\$150.00	T	\$1,500.00
	Pendant Lamp - Bali String Weave	10	\$200.00	Т	\$2,000.00
Harris de la companya	17"W x 22"H - 3LB -25 Watts				

Description		Qtty	Price		Total
	Pendant Lamp - Banana Fiber 18" Round x 15"H - Weight 2LB	8	\$125.00	Т	\$1,000.00
	Pendant Lamp - Bamboo Bell (2pcs)	6	\$250.00	Т	\$1,500.00
		Total Shabbat Dinner		ner	\$6,000.00
Cocktails					
	Truss Covers - Off White TBD Truss Height 12" x 12"	6	\$175.00	Т	\$1,050.00
	Truss Box Base - Painted in Soft White to hide the truss bases and sandbags around pool	6	\$650.00	Т	\$3,900.00
	Bora Bora Barback - Gold & Rattan (3 Piece Set) 66"W x 14"L x 85"H (Center- 34"W x 14"D x 85"H / Each Lateral 15 1/2"W x 14"D x 85"H)	2	\$175.00	Т	\$350.00
F	Siena Dining Chair - Whitewash Wood 17âN 🖟 18âN 🖟 30âN M/2 H	30	\$25.00	Т	\$750.00
	Bali Stand Up Table - Round Wood Cane 3' X 42"H	5	\$275.00	T	\$1,375.00
	Florence Dining Table - Oval Wood 10'L Escort Card Table 10'W x 4'L x 31"h	1	\$500.00	Т	\$500.00
			Total Cocktails		\$7,925.00
Reception					
	Dining Chairs - Florence - White W/armrest & Wood Frame 27"W x 23"L x 40.5"H	2	\$22.00	Т	\$44.00
	Main Wooden Facade - Light Wood Stain to cover all the trussing in wooden beams inorder to resemble a pergola feel English Chestnut Stain	1	\$92,000.00	Т	\$92,000.00
	Arched Entry Wooden Facade - Light Wood Stain to cover all the trussing in wooden beams inorder to resemble a pergola feel English Chestnut Stain	1	\$3,000.00	T	\$3,000.00
	Pendant Lamp - Concrete 01 16" x 16" x 20"H	6	\$175.00	T	\$1,050.00
	NEW Pendant Lamp - Concrete 01	6	\$300.00	T	\$1,800.00
	Pendant Lamp - Concrete 02 10" x 10" x 13"H	6	\$150.00	T	\$900.00

Description		Qtty	Price		Total
	NEW Pendant Lamp - Concrete 02	6	\$250.00	Т	\$1,500.00
	Pendant Lamp - Concrete 03 12" x 12" x 12"H - Weight 5.5 lbs	6	\$150.00	Т	\$900.00
	NEW Pendant Lamp - Concrete 03	6	\$250.00	Т	\$1,500.00
	Bali Stage Front - Wood & Rattan 6'L 6'W x 24"H	4	\$400.00	T	\$1,600.00
The state of the s	6'W x 4"D X 24"H - Inserts are removable, and can be custom painted or decaled.				
	Bali Stage Front - Wood & Rattan 4'L 4'W x 24"H	1	\$300.00	Т	\$300.00
III	Florence Rectangular Dining Table 10'x48" for the head table 10'W x 4'L x 31"h	1	\$550.00	Т	\$550.00
A	Bali Dining Chair - Wood & Cane Back round tables and head table 17 1/2â\(\text{lk} \) 16 1/2â\(\text{lk} \) 35â\(\text{lH} \)	63	\$25.00	Т	\$1,575.00
	Aspen Dining Chair - White Wash W/ Oatmeal Linen rectangles 18"X 21" X 32"H	86	\$25.00	Т	\$2,150.00
	Bora Bora Bar 8'W - Painted Frame w. Rattan Inserts (2) 8' Centers and (2) Corners	1	\$2,850.00	Т	\$2,850.00
	Barback - Curved Alcove w. Shelves 22'W TBD Frame color Inserts with Rattan 22'W x 18"L x 10'H	1	\$6,500.00	Т	\$6,500.00
	Sconces - Open Lantern - Gold 10"W x 6.5" x 17.5"H - Weigh 3.5 lb - 60 Watts 10"W x 6.5" x 17.5"H - Weigh 3.5 lb - 60 Watts - Custom color upon request	4	\$100.00	Т	\$400.00
T	Dining Table - Florence - Round Wood 66" for cake table 66"Diam x 30"H	1	\$450.00	Т	\$450.00
			Total Reception		\$119,069.00
Services					
	Installers: Install Wednesday	10	\$500.00		\$5,000.00
	Installers: Install Thursday	10	\$500.00		\$5,000.00
	Installers: Install Friday	10	\$450.00		\$4,500.00
	Installers: Install Saturday	10	\$450.00		\$4,500.00
	Installers: Strike Sunday	10	\$500.00		\$5,000.00
	Trucking: 24'L	4	\$450.00	Т	\$1,800.00

Custom Artwork: Hand Painted Details Sandra to hand paint bars Manager: Onsite for (4) Days Manager: Pre-Production Management & Layouts 1 \$1,200.00 \$1,200.00 \$3,200.00 \$1,600.00					
Custom Artwork: Hand Painted Details Sandra to hand paint bars Manager: Onsite for (4) Days Manager: Pre-Production Management & Layouts Onsite Supplies: Misc Please make checks payable to Revelry, Inc. Total Products: \$133,159.00 Note: Prior to deliveries and pick-ups all invoices must be pay in full We say Total (2008)	Description	Qtty	Price	Total	
Manager: Onsite for (4) Days 1 \$3,200.00 Manager: Pre-Production Management & Layouts 1 \$1,600.00 Onsite Supplies: Misc 1 \$1,332.00 Please make checks payable to Revelry, Inc. Total Products: \$133,159.00 Note: Prior to deliveries and pick-ups all invoices must be pay in full	Trucking: Fuel Surcharge	4	\$65.00 T	\$260.00	
Manager: Pre-Production Management & Layouts Onsite Supplies: Misc 1 \$1,600.00 \$1,600.00 \$1,332.00 Please make checks payable to Revelry, Inc. Total Products: \$133,159.00 Note: Prior to deliveries and pick-ups all invoices must be pay in full War & Tory (4.00%): 95,136.00		1	\$1,200.00	\$1,200.00	
Onsite Supplies: Misc 1 \$1,332.00 \$1,332.00 Please make checks payable to Revelry, Inc. Total Products: \$133,159.00 Note: Prior to deliveries and pick-ups all invoices must be pay in full War 8 Total (4.00%): 05.136.30	Manager: Onsite for (4) Days	1	\$3,200.00	\$3,200.00	
Please make checks payable to Revelry, Inc. Total Products: \$133,159.00 Total Labor/Services/Misc: \$33,392.00 Note: Prior to deliveries and pick-ups all invoices must be pay in full	Manager: Pre-Production Management & Layouts	1	\$1,600.00	\$1,600.00	
Note: Prior to deliveries and pick-ups all invoices must be pay in full Total Labor/Services/Misc: \$33,392.00	Onsite Supplies: Misc	1	\$1,332.00	\$1,332.00	
Note: Prior to deliveries and pick-ups all invoices must be pay in full Total Labor/Services/Misc: \$33,392.00			7.10 I	4100 150 00	
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Please make checks payable to Revelry, Inc.				
	Note: Prior to deliveries and pick-ups all invoices must be pay in full				
		V			
Packing (3.00%): \$3,852.27		Packing (3.00%): \$3,852.2			
Notes Taxes (tax excempt): \$0.00	Notes	T	\$0.00		
Discounts : (\$4,750.00)			Discounts:	(\$4,750.00)	
Total : \$170,789.63			Total:	\$170,789.63	
Payments: (\$170,790.12)			Payments:	(\$170,790.12)	
Balance: \$-0.49			Balance:	\$-0.49	